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QUESTION 1

Which two statements about SDN and NFV are true? (Choose two.) 

A. NFV separates network control and forwarding functions and provides a centralized view of the network. 

B. SDN decouples network services from hardware appliances so they can run in software. 

C. SDN separates network control and forwarding functions and provides a centralized view of the network. 

D. NFV decouples network services from hardware appliances so they can run in software. 

Correct Answer: CD 

Reference: https://www.sdxcentral.com/networking/nfv/definitions/whats-network-functions-virtualizationnfv/ 

 

QUESTION 2

Which two statements about Kubernetes clusters are correct? (Choose two.) 

A. The master coordinates the cluster. 

B. The minions are responsible for running the applications. 

C. The nodes are responsible for running the applications. 

D. The pod controller coordinates the cluster. 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/task/installation/provisioningk8s-cluster.html 

 

QUESTION 3

When creating a firewall rule in Contrail Security, which two types of endpoints are available? (Choose two.) 

A. virtual network 

B. tag 

C. domain 

D. service level 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/contrail20/information-products/pathway-pages/ contrail-
networking-security-user-guide.pdf 
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QUESTION 4

Click the Exhibit button. 

Within your Contrail cluster, a BGP peer is not advertising routes as expected. After issuing the curl http://
:8081/analytics/uves/bgp-peers command, you receive the output show in the exhibit. 

What is causing this problem? 

A. an incorrect local ID 

B. an incorrect peer type 

C. an incorrect IP address 

D. an incorrect family 

Correct Answer: D 
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QUESTION 5

Two virtual machines that belong to the same virtual network are not able to communicate with each other. Which
statement is true in this scenario? 

A. A floating IP address is assigned to the virtual machine. 

B. Images used to spawn the two virtual machines have different flavors. 

C. A security group is blocking the communication. 

D. The two virtual machines are in different availability zones. 

Correct Answer: C 
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